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Part I Listening Comprehension

(20 minutes)

Section A

Directions: In this section, you will hear 10 short conversations.
At the end of each conversation, a question will be.asked abouit
what was said. The conversation and question will be spoken on-
ly once. After each question there will be a pause. During the
pause, you must read the four suggested answers marked A), .
B>, C), and D), and decide which is the best answer. Then
blacken the corresponding letter on the Answer Sheet with a
pencil.
Ezample: You will hear;
You will read: A) At the office.

B) In thé waiting room.

C) At the airport..

D) In a restaurant.

From the conversation we know that the two were talking
about some work they have to finish in the evening. This is most
likely to have taken place at the office. Therefore, A) “At the
office” is the best answer. You should choose answer A on the
Answer Sheet and blacken it with a pencil.

- Sample Ansiver @BL D
\ o 1 -



.A) Yes, he may do it.
B) No, he doesn’t want to do it.
C) Yes, he will by all means.
D) No, he is not allowed to do it.
. A) A doctor they know.
B) The woman’s health.
C) A new medicine for headaches and sore throats.
D) The changeable weather.
.A) Yes,because small cars are very cheap.
B) Yes, because he has saved enough money.
C) No, because small cars are not available now.
D) No, because he has not got enough money.
. A) The man is going to learn Chinese.
B) The woman is learning English as well as Chinese.
C) They are both learning English and Chinese.
D) The woman may probably begin to learn Chinese.
. A) He will not learn computer language.
B) He has no idea of computer language.
C) He will design a new kind of computer language.
D) He does not like to use computer language.
. A) He often visits the department.
B) He has not found the department.
C) He wants to go to the department with the woman.
D) He has no idea of the location of the department.
.A) Yes, because she has a lot of money.
B) No, because the machine is not on sale.
C) Yes, if she borrows some money from the man.
D) No, because she doesn’t know if it is on sale.
.A) $18 B) $8 C) $10 D) $10.80
9. A) A room with a bath.
— 2 _



B) A room with a radio.
C) A room facing south.
D) A room on the first floor.
10. A) No, he won’t. It is too expensive.
B) Yes, he will. The woman wants it.
C) Yes, he will. He likes the colour.
D) No, he won’t. The bike is of poor quality.

Section B

Directions: In this section, you will hear 3 short passages. At
the end of each passage, you will hear some questions. Both the
passage and the questions will be spoken only once. After you
hear one question, you must choose the best answer from the
four choices marked A), B), C), and D) . Then blacken the

corresponding letter on the Answer Sheet with a pencil.
Passage I

Questions 11 to 13 are based on the passage you have just

heard.
11. A) In 1819. B) In 1861.

C) In 1865. D) In 1809.
12. A) Ordinary beds were not comfortable enough,

B) His wife wanted the bed.

C) Ordinary beds were too short for him.

D) The special bed could remind him of the people in his

home town.
13. A) he was funny. B) He was thoughtful.
C) He was short. D) He was ugly.



Pa

ssage I

Questions 14 to 16 are based on the passage you have just

heard.

14

15.

Pa

. A) OUd furniture, clothes, animals and plants.
B) Jewelry, machines, airplanes and spaceships.
C) Old machines, furniture, jewelry and clothes.
D) Animals, plants, spaceships and jewelry.

A) People all over the world.

B) People all over Washington, D. C.

C) People from the Smithsonian Institution.

D) People all over the United States.

. Ay How their forefathers lived in the past.

B) How the old machines and furniture were made.
C) How animals live in the zoo.

D) How scieniists do their research work.
ssage NI

Questions 17 to 20 are based on the passage you have just

heard .

17

18.

19.

. A) A specialist in oil spill prevention.

B) A TV reporter.’

C) An oil company technician.

D) The head of the oil company.

A) Where the oil spill occurred.

B) What caused the oil spill.

C) How the oil spill was treated.

D) The number of volunieers who ciime to help.

A) Business muen, siorckecpirs students and othiers,
B) Storekeepers. reporters businessamen. and others.

_4_“
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C) Farmers, scientists, teachers and others.

D) Scientists, technicians, businessmen and others.
20. A) To prevent any more oil spills.

B) To get rid of all the old ships at once.

C) To clean up the oil at Seaview Beach soon.

D) To pay the volunteers.

Part I Reading Comprehension

(35 minutes)’
Directions : There ére 4 passages in this part. Each passage is fol-
lowed by some questions or unfinished statements. For each of
them there are four choices marked AY , B), C) and D) . You
should decide on the best choice and mark the corresponding let-
ter on the Answer Sheet with a single line through the center.
Questions 21 to 26 are based on the foliowing passage:

On 5 September 1977, the American spacecraft Voyager

‘One blasted off on its historic mission to Jupiter (A B ) and be-

yond. On board, the scientists had installed a recorded greeting

from the people of the planet Earth. Before a brief message in

fifty-five different languages for the people of outer space, the

gold-plated disc plays a statement from the Secretary-General of -
the United Nations speaking on behalf of 147 meémber states——

in English.

The rise of English is a remarkable success story. When
Julius Caesar landed in Britain nearly two thousand years ago,
English did not exist. Five hundred years later, English, incom-
prehensible to modern ears, was probably spoken by about as
few people as currently speak Cherokee——and with about as lit-

tle. influence. Nearly a thousand years.later, at the end of the
N 5 —



sixteenth century, when William Shakespeare was at his best,
English was the native speech of between five and seven million
Englishmen.

Four hundred years later, the contrast is extraordinary. Be-
tween 1600 and the present, in armies, navies, companies and
expeditions, the speakers of English travelled into every corner
of the globe, carrying their language and culture with them. To-
day, English is used by at least 750 million people, and barely
half of those speak it as a2 mother tongue. Some estimates have
put that figure closer to one billion. Whatever the total, English
at the end of the twentieth century is more widely scattered,
more widely spoken and written, than any other language has
ever been. It has become the language of the planet, the first
truely global language.

21. What does the passage mainly discuss?
A) The feeling of the astronauts on Voyager One.
B) The American spacecraft Voyager one.
_©) The rise of English as a widely-spoken language.
D) The reason why so many people choose to speak English.
22. According to the passage, about 1500 years ago English

A) had some influence over other languages
B) was similar to the modern English language
C) was brought to Britain by Julius Caesar
D) was spoken by few people in Britain
23. The reason for the widespread use of English is that
A) Engilsh is used in Britain as well as in the United States
(I;) the English military forces, businessmen and explorers
A travelled all over the world
. G) English is used in various professions and activities in the
P 6 R



world
D) English is considered better than any other language in
the world
24. The expression “that figure”in line 6, paragraph 3, most
probably refers to
A) those people who speak English today
B) those people who often travel in the worid
C) those people who speak English as a mother tongue
D) the number of English-speaking nations in the world
25. Which of the following is supported by the author?
A) English might be understood by the people of other
: planets. ’
-B) English has been accepted by many people as an interna-
tional language.
C) English will sooner or later replace some other languages
in the world,
D) Many people of different nations regard English as their
native language.

Questions 26 to 30 are based on the following passage:

The study of the history of the forerunners (£ 5 ) of the
modern Christmas card proves that the tradition of exchanging
presents of good luck at this time of the year goes back to very
ancient times. In fact, we should have to go back to pre-Chris-
tian times, when the festival was not yet celebrated as the birth-
day of Christ, but as a day for the winter solstice (%4 % ). People
then celebrated the reawakening of Nature, anticipating the com-
ing of Spring and longer hours of daylight. The solstice season
was the time of magic for men, and they could then, from the
signs of their gods, foretell coming events during the New Year.

In Rome (¥ H) it was an ancient custom for all those who

— 7 —



were connected with a household to visit it on the first day of
January to exchange greetings and presents. The coming and
spread of Christianity and January celebrations concurred (J& B &
H:) for some time in Rome, but as time passed this ancient cele-
bration was replaced by Christmas, the celebration of the birth
of Christ. The Christian Christmas spirit introduced a slow but
truly remarkable transformation, and seasonal elements which
survived from previous times were enriched by new meaning and
content.

Generally speaking, those countries whose language belongs
to the Latin group continued to observe January st rather than
Christmas Day as the appropriate date for the exchange of pre-
sents. The English seasonal greeting card, on the other hand,

was different, since it conveniently combined Christmas and the

New Year, with the emphasis on Christmas. These cards were -

meant to be delivered on or before Christmas Day.
26. Which of the following is the main idea of the passage?
A) The history of the Christmas card.
B) . The celebrations of the New Year in the world.
\C/S The tradition of exchanging presents during the New
Year.
D) The ways ancient people celebrated the coming of Spfing.
27. Which of the following is TRUE of the ancient people men-
tioned in the passage?
\A/)’AThey exchanged presents of good luck to welcome the
" coming of Spring.

B) They exchanged cards to mark the blrthday of Christ.

C) They could foretell some events by reading the sngns of

their gods.
D) They celebrated both the Rirth of Christ and tne New
8 .
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Year.
28. The ancient people celebrated the winter solstice because

A) it was the time of magic for men
B) it was a symbol of good luck for them
C) they wanted to enjoy a long life
\Dyit was the time Nature was coming back to life .
29. In Rome, with the coming and spread of Christianity,
the first.day of January was still celebrated
@ people gradually began to celebrate Christmas Day
C) people visited their relatives on Christmas Day
D) people’s life was enriched by new meaning and content
30. Which of the following is implied in the passage?
’The changeover to observe Christmas Day as a date for
- the exchange-of presents was slow. N
B) The English seasonal greeting card emphasizes the New
Year rather than Christmas.
C) Latin-speaking countries now celebrate Christmas Day
rather than the first day of January.
D) In Rome people celébr'ated either Christmas Day or the
first day of January.
Questions 31 to 35 are based on the following passage:
, Science was relatively simple in Galileo’s day. At that time
a well-educated person had a good chance of understanding much
of what was known about natural philosophy——or science, as
we now call it. There was no quantum (&-F) mechanics, no nu-
clear physics » no biomedicine; mathematics was pretty well lim--
ited to algebra and geometry, and physics consisted of some
rather s‘mple rules about the way bodies in moiion scem to be-
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have.
it is unnecessary to say that science exploded in the last cen-
tury. As the world population increased manyfold (iF £ f%) so
did the number of scientists, each building on advances of the
previous generations of scientists. As the number of scientists
and disciplines and subdisciplines has increased, the latter be-
coming ever more complex, science has become increasingly re-
mote from the person who does not know it, making it more and
more difficult to learn what is known about even a limited sub-
ject. As an example, consider the ASTROPHYSICAL JOUR-
NAL-——just one of several international sources dealing with
modern astronomy (K 3C%). All the issues of the Journal pub-
lished in the fifty-five years from its founding in 1895 until 1950
occupy fourteen feet of shelf space; those published in the eleven
years from 1968 to 1978 fill seventeen feet of shelf space! The
frontier of knowledge in astronomy has become so specialised
that astronomers in one field often cannot understand the papers
in another, and even scientists in the same general field often
cannot communicate with those in different subdisciplines.
31. According to the passage, during Galileo’s time, a well-edu-
cated person
A) often could make himself known in the field of natural
philosophy
B) was able to acquire a good knowledge of natural philoso-
phy
C) often found that science was not complicated
D) was required to have a good knowledge of mathematics
and physics
32. Tt is known from the passage that the rapid development of
science was mainly due to
— 10 — '



»

é)"the rapid growth of the world population
B) the scientific achievements Galileo had made
@) the advances made by several generations of scientists
D) the development of advanced technology
33. Why does the author mention the ASTROPHYSICAL
JOURNAL?
@) To show the rapid development of science.
B) To explain the role scientists play in the advance of sci-
ence.
C) To describe the contributions made by such journals in
the development of science.
D) To criticize the specialization of some disciplines.
34. It can be inferred that the specialization of disciplines has
made scientists feel it
A) difficult to acquire a good knowledge of science
B) easy to communicate with one another
._C) difficult to understand scientific papers in different fields
D) easy to have a good knowledge of a subarea of a discipline
35. Which of the following might be the tendency in the develop-
ment of modern science?
A3 Explosion of scientific journals.
B) Increasing number of scientists.
C) Increasing number of research institutions.
- D) Speedup of specialization.
.Questions 36 to 40 are based on the following passage:
Industrial pollution is not only a problem for the countries of
Europe and North America. It is an extremels; serious problem in
some developing countries. For these countries, economic
growth is a very important goal. They want to attract new in-
dustries, and so they put few controls on industries which cause



pollution.

Cubatao, an industrial town of 85,000 people in Brazil (B}
P4), is an example of the connection between industrial develop-
ment and pollution. In 1954, Cubatao had no industry. Today it
has more than twenty large factories, which produce many pollu-
tants (75 44 §). The people of the town are exposed to a large
number of poisonous substances in their environment and the
consequences of this exposure can be clearly seen, Birth defects
are extremely common. Among children and adults, lung (i)
problems are sometimes twelve times more common in Cubatao
than in other places.

It is true that Brazil, like many other countries, has laws
against pollution, but these laws are not enforced strictly e-
nough. It is cheaper for companies to ignore the laws and pay the
lines than to buy the expensive equipment that will reduce the
pollution. It is clear, thevefore, that economic growth is more
imporant to the government than the health of the workers.
Fowever, the responsibility dees not completely lic with the
drazilian government. The example of Cubatao shows that inter-
national companies are not acting in a responsible way either. A
numiber of the factories in the town are owned by large compa-
niee from France, Ialy. and the U. S, They are doing things n
Braml that they would not be able to do at home. If they caused
the same amount of pollution at home. they would be severelv
punished or even put out of business.

40, Why don’ t developing countries have strict pollution con-
trols?

A) The new industrics they want to attract do not cause

much pollution.
B) Pollution is not a serious problem for developing ccun-
_ 1‘2 -



